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Constituent Order, cont’d (11), Muriel Fisher

1. Bha
Iain
ag
ithe
ubhlan

[ann an]
cabhag.

be.past
John
prog
eat.vn
apple.p

in

hurry.sf

‘Iain ate apples in a hurry [quickly].’

2. Bha
Iain
[ann an]
cabhag

ag
ithe
ubhlan.

be.past
John
in

hurry.sf
prog
eat.vn
apple.p

‘Iain, while in a hurry, ate apples.’

3. *[Ann an]
cabhag

bha
Iain
ag
ithe
ubhlan.

in

hurry.sf 
be.past
John
prog
eat.vn
apple.p

‘Iain, while in a hurry, ate apples.’

Note: Ungrammatical

4. Bha
Iain
a’
feuchainn
ri
innse
[mu dheidhinn]
agus

be.past
John
prog
try.vn

to
tell.vn
about


and

ri
canntail
gu

robh

e
duilich.

to
say.vn

decl-C
be.past.dep
3sm
sorry

‘John was trying to explain and (to) apologize.’

5. Chunnaic
thu
am
balach
a

bhruidhinn
ri
co


see.past
2s
the.sm
boy.sm
wh-C
talk.vn

to
who

[an dè]?

yesterday

‘You saw the boy who talked to who yesterday?’

Note: echo question

6. Co
ris
a

bha
an
gille

a’
bruidhinn?

who
to
wh-C
be.past
the.sm
boy.sm

prog
talk.vn

‘To whom was the boy speaking?’

Note: pied Piping with inversion

7. Co
ris
a
bhruidhinn
am
balach?

who
to
wh-C
talk.past
the.sm
boy.sm

‘To whom did the boy speak?’

Note: Normal (not echo) question
Note: pied piping with inversion
8. Ri
co
a
bhruidhinn
am
balach?

to
who
wh-C
talk.past
the.sm
boy.sm

‘To whom did the boy speak?’

Note: Echo question

Note: no pied piping with inversion

9. Tha
Iain
ag
iarraidh
a
bhith
math.

be.pres
John
prog
want.vn
tran
be.vn
good

‘John wants to be good.’

10. Tha
Iain
ag
iarraidh
gum
bi
Mairi
math.

be.pres
John
prog
want.vn
decl-C
be.fut
Mary
good

‘John wants Mary to be good.’

Note: The form of the decl-C is affected by the following consonant: in this case, there is a bilabial so it gets a final bilabial (m).

11. Tha
Iain
ag
iarraidh
gum
bi
ise

math.

be.pres
John
prog
want.vn
Decl-C
be.fut
3sf.emph
good

‘John wants her to be good.’

12. Gheàll

Brian
do/gu
Ann
gun

tionndaicheadh
e


promise.past
Brian
to
Anna
decl-C
turn.cond

3sm


dheth 

a’
stòbh.

off.3sm 
the.sf
stove.sf
Note: The form of the decl-C is affected by the following consonant: in this case, there is an alveolar so it gets a final alveolar (n).

13. Thug


Brian
air
Ann
a’
stòbh

a
thionndadh


give/take/bring.past
Brian
on
Anna
the.sf
stove.sf
tran
turn.vn

dheth.

off.3sm

‘Brian made Anna turn off the stove.’

14. Dhearbh
e
gun
d’
rinn

e
a’
cheic



swear.past
3sm
decl-C
past
make.past
3sm
the.sf
cake.sf

e
fheinn.

3sm
self

‘He swore he made the cake himself.’

Note: The form of the decl-C is affected by the following consonant: in this case, there is an alveolar so it gets a final alveolar (n).

15. Dhearbh
e
gur
e
fheinn
a
rinn

a’
cheic.

swear.past
3sm
decl-C
3sm
self
wh-C
make.past
the.sf
cake.sf

‘He swore he made the cake himself.’

Note: The form of the decl-C is affected by the following consonant: in this case, there is a vowel so it gets a final ‘r’.

16. Dh’iarr

Iain
air
Mairi
fuireach.

ask.past
John
on
Mary
stay.vn

‘John asked Mary to stay.’

17. Dh’iarr

Iain
air
Mairi
bruidhinn
ri
Brian.

ask.past
John
on
Mary
speak.vn
to
Brian

‘John asked Mary to speak to Brian.’

18. Dh’fhainich
Iain
dhe
Mairi
am
bruidhinneadh
i
ri
Brian.

ask.past
John
of
Mary
Q
speak.cond
3sf
to
Brian

‘John asked Mary to speak to Brian.’ (if she would speak to Brian)
Note: NSC notes that this one might be more “polite” than the version in 17.

19. Thòisich
Iain
air
an
dealbh

a
pheintadh.

begin.past
John
on
the.sm
picture.sm
tran
paint.vn

‘John began to paint the picture.’

20. Thòisich
clachan
a’
tuiteam
dhen
a’
chreag.

begin.past
rock.p

prog
fall.vn

off
the.sf
cliff.sf

‘Rocks began to fall off the cliff.’

21. Tha
e
coltach
gu
bheil

Iain
a’
peintadh


be.pres
3sm
likely
decl-C
be.pres.dep
John
prog
paint.vn

dealbh.

picture.sm

‘It appears that John is painting a picture.’

Note: The form of the decl-C is affected by the following consonant: in this case, there is neither a bilabial nor alveolar consonant, nor a vowel. Thus the base form (gu) appears.

22. Chanainnsa

gum
bitheadh
Iain
a’
peintadh


say.cond.1s.emph
decl-C
be.cond
John
prog
paint.vn

dhealbhan.

picture.p

‘I would say that John would be painting pictures.’

Note: The form of the decl-C is affected by the following consonant: in this case, there is a bilabial so it gets a final bilabial (m).
Note: pro-drop in subject
23. ?Tha
Iain
buailteach
a
bhith
a’
peintadh
dhealbhan.

be.pres
John
likely

tran
be.vn
prog
paint.vn
picture.p

‘John is likely to be painting pictures.’

Note: NSC notes this construction is unnatural.

